Name:

ﬂh Checking Division Answers

Check each answer. Determineif the answer is'correct' or 'not'.

Answers

/ Lg- 6= N\
Gvision problems can be checked by A= 182+6=2915 \
multiplying the quotient by the divisor 32 29 L
and then adding the remainder. x 8 x 6
256 174 2.
If the answer is the same as the + 7 + 5
dividend, it is correct. 179
\_ 263 s
1) 419+3=139r2 2) 739+2 =369 4
5.
6.
3) 522+7="T4r4 4) 973+5=194 7
8.
9.
10.

5 780+6=97r4

7) 911+8=182r1

9 653+8=81r5

6) 822+5=164r2

8) 399+-6=66r1

10) 950+7 =13515
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Checking Division Answers Name: Answer Key
Check each answer. Determine if the answer is'correct’ or 'not'. Answers
/ . P N
GVision problems can be checked by ARSI 182462915 ) correct
multiplying the quotient by the divisor 32 29 L
and then adding the remainder. x 8 x 6
256 174 2. not
If the answer isthe same asthe + 7 + 5
dividend, it is correct. 179
\_ 263 )|l __correct
1) 419:3 = 2) 7390 = 4. not
419+3=139r2 139 739+2=369 369
x 3 x 2 5 not
417 738
+ 2 + 0 6. correct
419 738
7 not
3 522+7=T74r4 74 4 973+5=194 194
x 7 x5 g not
518 970
+ 4 + 0 9.  correct
522 970
10. correct
5 780+6=97r4 97 6) 822:5=164r2 164
X 6 x 5
582 820
+ 4 + 2
586 822
7) 911+8=182r1 182 8) 399:+6=66r1 66
X 8 X 6
1456 396
+ 1 + 1
1457 397
9 653:8=81r5 81 10) 950+7=135r5 135
X 8 x 7
648 945
+ 5 t O
653 950
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